FURTHER ALGEBRAIC TECHNIQUES - CHAPTER REVIEW

1 Solve:

(@) 5a-6=4(2a+3) (b) 3(8a—-2)-3(2a+4)=0 (€) 8(x+2)-3(x+5)=2(x-2)
@ Sa-6=8at12 | 24a —6 - €0 —12=0) 8x +16 -3 x-15=2x -4
& -3a=18 190 — 18 =0 & 5w 4= 1g=k
4=o &2"—'} A= o = | ad 3g = -0

4’;:0&-;—6 4= X:—5é

2 Solve:

(b) 3x5—1=?:% © =
DB -1) = Sx e Bfa-2) =Bz +3)

a=> x =15 @601—20:51 :,351__,0:51_.“1

s> 55x =20 [ 2x = 19
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3 Solve, showing your solution on a number line:

@ ¥=2>2 (b) -8<3x-2<16 © |x-1>1
aD 3y -2 10 h)@-é<32.<'8
o= 32> 12 gy = EE$E
o= X 7E ‘——’fz >
o .
__,___Z-f—————”""
C) riIba

) }5 r-1>0 ((.e. % I
{’aﬂﬂ ]1"”: ’L—l ,auxd\ IR& LMI(M-QL"J )
st =il a=5 ) ol 4
So we - Rore of Ro nowa fime x> omd A>2, Ao V2

2) ZC’)L—KO [ie. 2 <) Hhea |2~ = =2+ and
| ‘ \ = (7] g —-2>0
T m?m& o B aaifies =2 =
g= <0
o ve vudh e b T o fwe 2 <1 asd x<O
<O e o X%
- (0} "
} 2 -

O
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4 Solve:
. ) o = (© ¥=4x-4
aJ l'—‘i«}z 4=> =4y =0 a4 *-4x+4 =0
2
=z e
Mo L=t2 s, f~Bl | == (2-2)
Mo L=0 of s =2
=4
(d) (¥ -3x)'=16 (e) (@ = 3x— 10)(* - 3x—4) =0 ® S men
4= gr-2r =216 | ofler x>~ 3x-10=0 A:4‘3—4x(~3)>(6
2_ -4 =0
o wode=th | T A=D1 -1
f -3 -10=0
%f e e AYO o 2 lufio
= 3)9(_——[(:0 A:Cf—lfx[—IO):M
P A>0 o 2 aduk g el l] - o
= (‘L-H)(X.-lf)::-o : co A2 .
__0 x :3‘,‘7':5
Ao L=-—| or x= - ul x:——__}—_u :~c|
Z)Lc lz-—-g'.t:—-éﬁ m"x’:lg—-j-_:_z' 2
a5 qFedi k=0 QI =3p -5 =0 o 2 adlubians
ACO no alubon. | 2 adafions x == o) ad x=-1
50 /meu, ad = Lf
b\ﬂm@, 2 )
’0% Oversll | & Ao
%:-—I andl L:‘-[f
?)L:—z/ 'X,:--l/

x =l and =35
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5 The hypotenuse of a right-angled triangle is (x + 1) cm in length and the other two sides are x cm and
(x = 7) cm. Form an equation and solve it to find the length of each side.

(')U—l )l-.-_ x + [x-—?)z— {%mgm‘m ) ]
g T +leH = X+ e +419

o x4l -4E=0
7(}_.162:‘1‘48:0

®A= 62_4x 48 =64=8"  w z:..’éz—g - 4
o = 1618 _ L
=4 i %\of‘ lm% an (x—?)’\wouﬁ& Ge MaoKVC /MD‘ e

/Naahvt Autane K aof ,mL&)

6 Solve the quadratic equation 2x* — x — 5 =0, giving your solutions:

(@) in simplest surd form (b) correct to 2 decimal places.
a)A=b2’4&C:IZ‘4K(—5>KZ:4, A>O/)DZADMW
L 4

b J+lar yv 185
A

| - m//\\}) _ .35
b
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X 1

x+1 x+2

P x(x+2) -—[X,H)\ = B g5 242x —2 - | Fa+l)+2)
(x+1) (x+2

[ = B + 9 +6 &= 222 8x -*=0

A Gh-bxFx2 = 8=(2)

7 Find the solutions of the equation = 3 as surds.

o= x*+x -
=D 212.}_8%-}-?:0

Lo, S0 ;4 & o -
1. = :fgj,;_f%———::_ﬁz@:"

&
_olz 4=z

er,:_—_;__g/"'_ﬁ"
4 2

8 Expand and simplify (2x = y)(x* = xy + ).

(21 "3)(752’% +31) = —Z%‘g +ij7. -JZZ +lef53
= 213—33 «51‘; +3th1
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I
N SN (I _
implify m =4 m =3m+2 [M—Z)(W\+2) {M—Z)(M"l)

_ 2m-1) = (m+2)

(h-2) (m+2)(m=1)

11 The perimeter of a rectangle is 18 cm and its area is 20 cm’, X [ {

(@) If the length is x cm, express the breadth in terms of x.
(b) Write the area in terms of x. 3

(c) Form a quadratic equation in x and solve it to find the length and breadth.

O)P___Z[x-kg);% A- 20 :’X_g- m&g:_zzq
= :(‘]‘-L

U Are = 2 (C{—l> = 20

C) ,d'x,z-(—q')c—ZO::O s = W 20 =0

A=9*_Lx)0 = | ASO  so 2 rdubiass.
X = 1+ = W .tt 420 g:zf
b
or X = "‘ .___Z/, (G/)O = 5
: WA &51&‘ S and
ng M oAl o &
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12 If n20, solve 200 = %(6 + 2(n - 1)), rounding your answer to the nearest integer.

4=> 200 < 3n + n(n-1) e 200=dntnT-n
=D = F — 2L + 200 =0 == N> +2n—-200 =0

A b _bilam) =80k A0 s 2 skl
N- =2+ (804 _ [B.8 o apec 5

b
6““:—2_—@2’— M%m@i@%mw@mb@
-3
Bk A0
13 Solve 12x° + 12x* = 24x=0. <= 2(,5 4+ 2% - 2x=0
sy x(y¢2+x_z) e 4o eifir =0 or 2¢+x-2=0

a= x (x-1)[x+2) =0

Section 14 - Page 7 of 8



FURTHER ALGEBRAIC TECHNIQUES - CHAPTER REVIEW

14 Solvcfl—:—xzbft for x. L= [(L—J—)(})"‘—) = X*=

= ob —ax —bz +2*= 27

> &b_X(&+b>:O

atb

15 If x>0, solve 22” = x* 4 20° — 40x cos 60°, giving your answer to the nearest integer.

oo 484 = 22+ 40D - b0z x L wn @60=

O

{l

a= 84 — x*+ 20«
e X:_20x -84 =0
A = 40D -4 x (-84) = 36 AY0 g0 2 adukioo -

p s 20+V736 = 25.6 7o Zlf '(’o téﬂ. maaves & L'ME?/\
Z

Gfx:ZO—\}:FSé 0 s Mmb&umm
. ld Gk x>0,
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